Whitman College

Econ 328

Exam 3

November 15, 2007

Write all answers in your blue book.  Show all of your work.  The exam ends at 11:55.

1. (20pts)  For the following game, graph the best response functions for each player.  Graph Player 1’s best response function in blue, and Player 2’s best response function in black.  (Use the pens provided.)  On your graph, indicate all of the pure and mixed strategy Nash equilibria.

	
	
	Player 2
	

	
	
	I
	N

	Player 1
	A
	1, 4
	2, 0

	
	B
	0, 8
	3, 9


2.  (10pts)  Give an example of a game that has a pure strategy Nash equilibrium (NE), but no mixed strategy NE.  Draw the normal form for this game and explain why the game has no mixed strategy NE.  

3.  (10pts)  Give an example of a game that has a mixed strategy Nash equilibrium (NE), but no pure strategy NE.  Draw the normal form for this game and explain why the game has no pure strategy NE.  

4. Consider the following sequential-move, one-shot von Stackelberg duopoly quantity-setting game.  Firms 1 and 2 sell a homogeneous product at a price set by the market according to the following market demand function: P = 40 – 0.5(Q1 + Q2), where Q1 is Firm 1’s output, and Q2 is Firm 2’s output.  Firms can sell fractions of a unit.  Both firms have marginal costs of 10, and no fixed costs.  Firm 1 will contract with its suppliers and commit to producing its output before Firm 2 can choose its level of output. 

(a) (20pts) What is the subgame perfect Nash equilibrium (SPE) of this game?
(b)  (5pts)  What is the total output, the price, and total industry profits at the SPE of this game?

(c)  (5pts)  What would a monopolist’s profits be in this market?

5.  Consider the following set of payoff vectors, V, defining two players’ alternatives for a given bargaining problem.  V= {(12, 13), (3, 4), (1, 4)}.  Here, the default payoff vector is (1, 4).  Suppose that player 1 has a bargaining weight of 1 = 0.8.  Assume transferable utility.  

(a)  (15pts) Calculate the payoffs for each player in the standard bargaining solution outcome. 
(b)  (5pts) What transfer, t, from Player 2 to Player 1 achieves the standard bargaining solution outcome?

(c)  (10pts)  Does it matter to Player 2 what Player 1’s default payoff is?  Explain your reasoning.





















































































































PAGE  
1

